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Answer the following Questions: PAGY) AW e o

1 - Answer one of the following (A) or (B): | :p2 () i (1) st gudt asi 250 -0
Werite the scientific term: 3 olalt mllaaell CIS)
(A) Fracture that resulted by compression | daial! (e Lida @it st g (1)
where the hanging wall is moving | $s'l! &iledl sghuoe = 448,
upward with respect to those that | ! sl Al olel I
occupying the footwall. Lol

(B) Fractures present in different types pallot Syt sy ()
of rocks; igneous, sedimentary and el
metamorphic without any evidence of
movement.

2 - Answer one of the following (A) or (B): | :e3 (<) of (1) sudtgudt i st -

Choose the correct answer: rAovouall Al W1 S
(A) When hammering the quartz it has... | - aild 35,1580 e @t wie (1)
@ Cleavage in one direction. oy (S ghun B adi @
(b) Cubic cleavage. aa U5 3 iy (D)
(©) Jagged fracture. e puSos usis ()
(@ Concoidal fracture. stone s yusiy (3)
(B) Mineral characterized by dull luster is..... 155 Gt Seely 51 Duaed! ()
....... 32 akae

(@) Pyrite N Q)
(b Kaolinite ey (Q)
(©) Sphalerite o aatl )
(@ Malachite. S YL @
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3 - Answer one of the following (A) or (B): | :@3 (<) 9i (1) o 13wt asi st -¥

Explain the following: i pesd
(A) Presence of cross bedding in sg3uall ple plaliiall Gaill 3525 (1)
sedimentary rocks. o labl

(B) The atmospheric pressure decreased to | 42 & ot gl baiall b (2)

quarter its value at 11 km high. S 1 gl e
4 - What would happen if...... s Loie Grtony 13La - £
Presence of red algae at 50 m depth. ke o Geo s el pendl cdlalall a5
Felad ! Comi
5 - Mention the importance of Earth A, 5,1 sy Acedl ,S3f -0
warms to agricultural soil. ey
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6 - Compare between:
Fresh water lakes and saline lakes
concerning to mode of formation.

10 Q18 -1
(BLadt cu (ya)

Fresh water lakes
Zuial) Oy

saline lakes
PPN { A JOP {

Mode of
formation

slacdt Ce (o
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7 - Study the given figure which represents | ¢a>1 Jiey Slalal it gsids -v
one of the tectonic motion and answer + A0S OIS ot
the following:

—continental

oceanic plate
plate

-

a- Mention the type of tectonic movement | 339 gt & g 1aS pondlg 93 5830 ¥y
LIS 8

in the figure.

lammed) 75U (ulundl Cow pud <Ll

b- Justify the oceanic plate sinks bellows
glagh dads b (5HLat 7 ol Jau

the continental plate in mantle layer.

c- Mention an example. S 1 (yn 9301 12gd Wl L8301
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8 - Explain the reasons of variation of salt | ;8,5 as)s @M olewi pudg -A

concentration in sea water, RIEW Py F RN (FSTPE

give examples. el LS5 as
9 - Mention the main elements of OuwEl dwlu™) polial) 5 S30 -4

classification of the crystal systems. S el ARkl 5 Jibladl!
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10 - Answer one of the following (A) or (B):

Write the scientific term:

(A) The sediments that take the form of
a half circle position, its center the
outlet of the canyon (khowr).

(B) small grained size and light weight of
mud (silt and clay) move as suspended
materials or grains in rivers.

103 (@) 9 (1) ol guadt s f st =\
: olal | zllaiaalf LIS
L 35 0 8 313 sl IS e sty y (1)
0951 g 30
dapad g @) B o Ol ()
JALS Jlalally Gupall (e 0) 9t
e B BAe lge Wi o

11 - Choose the correct answer:
A mineral has specific gravity of 19.3
related to ............... group.

@ Silicates.
@ Sulphates.

@ Oxides.

@ Native elements minerals.

Presence of iron oxide impurities in quartz.

1 daZB Asouall Ayl N1 Sl =) )

o et VLY e gt Ad)g Juae

s e G 13Le -\ ¥

Sunisd | awlST (pe Cilgd le 351988 g
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13 - Mention one similarity and one
difference between:
Producers and decomposers.

=T Al 0:\;‘3 L;::;A'.ﬂ -\Y
el | SUSIS g o0l Aaiial| SLSIST

Producers Decomposers
212G dtiad | CLAIST Aot SLSISI
Similarity |
o S SO
DAfferenee |
L g
14 - Mention the importance of studying 1 oSH -0t

body waves of earthquakes.

DY A 1 Ol gad | Al )a e
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15 - Give reason for:

bl e -V 0

Coal is usually formed in the swamp land | claatuweiglolio ;3 5sle paall (s

behind river deltas.

Ll ol cats

16 - Answer one of the following (A) or (B):

Compare:

(A) Grazing in weed areas & grazing in

the area of shrubs and trees.

(B) Organic fertilizers & chemical fertilizers

(concerning: its effects on soil)

1@ (@) 91 (1) a1 3uud ) s 500 -1 1
100 JS (2 0018
2 e g olie ¥l Gblie B e b -
A JOPS. X (PR P I TN TP
LS Btaw g Ay gunati Sewd ) —0
(A e Al o (ye)
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17 - Mention the geological (Period / Era)
which characterized by:
a- Accumulation of rock salt layers.
b- Pangaea started to split into pieces.

@ﬂw!ﬁd‘ﬁu’@!ﬁm -\v

Syt pled | Ol @S1,5 -
(L2oly) SLan pl Jlass! Gyl -0

18 - «Sunlight has an effect on the daily
migration of marine animals».
Discuss this statement.

:C).fz‘ =-\A
B yogd e pugate yiliegnly
ALY O gt Ace g
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19 - Answer one of the following (A) or (B): |  :(c) 51 (1) sdt3udt i 20 214

Mention an example for it:

+ Y Le S

(A) Giant reptiles ruled Earth during the | 9> B D
Mesozoic Era and extinct at the end of | 4 =251 dlusitishad! cix

the Cretaceous Period.

Soaldall paali dales 2

(B) Chemical elements with very high LS Adle BlrayS polie o

density forming the Earth’s core.

ool LB A lgl

20 - Answer one of the following (A) or (B):
What would happen if....
(A) Falling heavy rains accompanied with
strong winds on limestone rock.
(B) Basaltic rocks subjected to water rich
in dissolved oxygen.

rori @ (o0) 9f (1) G g i i) =Y
rbie Codony 130
Bagas rhip Lgoae sl dogiu -
S e | g5uall e
4 olie slad CL) pais o et -

SomuS Y
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21 - Answer one of the following (A) or (B): | : (&) of (1) ot 3udt i s =YY
Justify the following: 5 o
(A) The ratio of oxygen and carbon dioxide (CO,) C251 S| 315 & 13

. . sldtolis 2 wls (Oy) (uamus¥ig
remains constant in the sea water. ol |

o -+ 3

(B) The plant stem is positively phototropic. | . ssat sty cor so ot 3l o

22 - Write the scientific term: 1ole JIA elall mllaqal | CGS) =YY
Plate tectonic motion forming transforming | gs-e Laue g ao 57s5 25 5>
vertical faults. dges AJLED

23 - What is the importance of: SAacdal oo poll Aadi g - YY

The natural grazing.

12 YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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24 - Choose the correct answer:
From the characteristics of the desert
increased area .....

@ Increased light intensity &
reduction in relative humidity.
@ Low temperature &
reduction in relative humidity.
@ Decrease of light &
increase in relative humidity.
@ Increased light intensity &
increase in relative humidity.

25 - From description of this rock:
identify it and then mention one use of it:
a. It is a muddy rock rich in hydrocarbons,
mostly of plant origin and it is a waxy
solid state.
b. Metamorphic rock resulted from exposure
of limestone to high temperature.

1Jadd dovowall Aol Wyl -V ¢
...... a:wjbaud‘@.bm‘ué.‘shaé-‘}n

oolasilg s guall 50 330 @
Al | A gl 1

By pmd | Ay olasal @
k| B glo ,31 (alasail

gl 31 gl ylg 5 guall 218 @
A {

gL ylg & guall B Balyy @
Al | A gl 1

135S kel ) s gt S (pe - YO
Lolisviu! ,S3lg ygomall o L2 ,ald
:‘.:\:Jj
93,8 9 g1 319001 38 il p3vio -
Ao dyaed W B i 939
Sradl syt J g (po gy poio -0
Budd ) 3yl et
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26 - Compare between: 30 =3 1 95 g Couud ISH iy 9L - YT
ALadi¥ g o Lee ST CoS S Cos
Calcite quartz
oISt 31eSI
Chemical ........................
composition
T T ]
Cleavage | |
X T ST

27 - Study the given figure and answer the ‘ oo ol @ LN JSTAN (uysl - YV
following: . P AGY Al

a- What are the geological processes that | o= s gttt Gliboatila Xy
take place at numbers (1) & (2)? (V) (1) (o US B Bus

b- Why the structure number (3) is formed? ‘ 3(¥) ) IS ()9S5 1aLed 5Ll

14 YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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28 - Answer one of the following (A) or (B):
Write the scientific term:
(A) The removal of the upper layer of the
soil to use it in brick manufacturing.
(B) Decomposition of shaded leaves which
nourishes the soil and keeps its fertility.

1 (@) o) (1) O auadt A § p5n ) - YA
1 ole JIAN elal! mllaaal COS)
Al law (pe Ldal) Zadatt 430
oslall delus 8 Lgelasiuwy
(o gl LAl LS Byguae Bale -0
RPITER PN (R (BPI RN [P

29 - Choose the correct answer:
Marriott lake formed due to.................

(@) Degradation effect of lakes.
@ Degradation effect of seas..
@ Sedimentation effect of lakes.
@ Sedimentation effect of seas.

30 - Give reason for:
Presence of coral reef fossils closer to
polar regions today.

1dadd Aovonall dala W 4t -Y4

......... A Lo g 3 B o 53 9S53
O pntll (aigl ) ol @
st s ot @
REY PRI JPRCL {Y PX @

bl e S Joadl @

1A Lat Yl -¥e
8 ale e olads ,iblaiagay
L acdast) Gloliad!
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31 - What are the results of:
Gradual flow of the magma in the upper
mantle layers from the deposition areas
to the disintegration areas.

1A AG yladl AL Lo =YY

O glagt! Bl el 8lguatt Gl

aakie ¢18 I cow ) dakaie Jaw
cocady

32 - What is the name of the mineral:
a- A green colour mineral its chemical
composition is hydrous copper carbonates.
b- Mineral is yellowish, transparent which
turns brownish colour when small
amounts of iron replace zinc in its
atomic structure.

3ykalt le J1ad Hdaed ! @ewl Lo =YY
VAGY
AleasSI 4S5 puian digh Oaass -
caile ulsd Gl ga S
Ol I, Blad yawl Huiser —w
o G153 pams IV | e i
S dead L3 Jome

H
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33 - Study the given figure and answer the | p Sl oelaei 31 JS a8 uysl -¥Y

following: PAGY! Al e el
a- What is the type of structure (C)? why? $13La35 (C) S .99 Lo
b- Mention the type of geological structure (A). (A) oS g g3 S5 s LAl
c- Which structure 1s younger (A) or (B)? .(B) 51 (A) usi Logai sl

34 - Answer one of the following (A) or (B): | @3 (<) 91 (1) ot gud asi st -¥¢

Discuss: 1Bl

(A) From the characteristics of 585 punell e | AUAT yailias (pe, |
ecosystem its mutual intricate | o gl (s LB Sl | LS
relationships between the S Alamd Olaw GLAY Cdall o
environmental factors. i gyl | Bl g 15 e

(B) Fennec fox has characteristics for
adaption with desert environment.
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35 - Write a brief notes about:

:[_,.GSJ.LA;‘:N 3;\..‘3%:5‘ -

The economic importance of coastal delta | L cawly 3 dslaaia ¥l dceals

deposits in Egypt.

PP S WINP-A]

36 - Compare between:

1o (L8 =YY
O H 9o g juasd! Hee

Source rocks
sl j9eo

Reservoir rocks
O H g5
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37 - Answer one of the following (A) or (B): | :a2 (<) 9i (1) o3t asi J550 ¥V
What would happen when if ........ rdie Gy 13Le

(A) Volcanic eruptions under sea or ocean | sbe! ghaw Sl 2518 53 S1)93 &g -
QQM" 19 )\:-..‘A.H ‘_,5

Lo Aamall joimall 3 Lo ladl Ja 1 -0
Sladall plawd Zjlge 583 Cum

water.
(B) The magma is intruded concordant
(parallel) with the bedding planes.

38 - Choose the correct answer: 1 JaG8 Aomouall Al M1 051 -YA
The light intensity in the seas depends on | ol sld! 2 sslaiu¥) sus a8y
all of the following except ........... | e e Lo Gl Les Js

(@) amount of light that penetrate sea water —.,~disle gots 331 esiatizeas (1)
@ amount of light that reflected from sea o (ye (puSaioll s guall ZiaS @
surface. o
@ The wavelength of light. 59l dx ga Jolo @
@ The water temperature. sLal1 3y Ay @
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39 - Give reason for: 1ok Lot Jle ¥4
Gulfs are formed in some shores and | v o= do ot Glatsndis s
rarely in others. NESEAPANPV- P AV PR PRANPY-A{

40 - What would happen if: 1 ole A yalt EIL Lo - £ ¢
Slow cooling and crystallization of magma | ¢si=5 3! Lealell sitadt w
containing less than 45% of silica content. St (e JaT 1w e

41 - Write the scientific term: rode JIAN elal pllaiaal| COSY - )
Plane which divides the crystal into two | cuaws 115,500 @iy @1 (g giuat!
1dentical halves. LoLed (yugalicio

20 YOAA/ YAV J g% 50l - Amn | palt Aulbalt A
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42 - What is meant by:
Hydration process.

1 Sgiaiiall Lo - £ Y
'.;9:."‘:"”

43 - Answer one of the following (A) or (B):

Compare between:

(A) Formation of volcanic island arcs &
formation of the Red sea (concerning:
tectonic motion)

(B) Primary seismic waves & secondary
seismic waves.

1 (@) 91 (1) (1 ouadt i i) -8 Y
10 (IB
(29539 ZOIS 10t 55t (ugd (985 -]
e Ny
(5 9381 48y | Eiim (p0)
Ol gally Ao A58 Sl gedl -0
S L A 13358
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44 - Study the given figure and answer the
following:

zpi’d,i@‘d&&‘d!uujﬂ =8¢
x@'?‘&c%i

(~)Z

a- (X - X) & (Z - Z) are two unconform1ty (~° -
surfaces what are their types?

i 7 (<)

~P) (=~ -~ 33‘

Slogin JS £ 93 Le 30155 pie Lonlaw

b- If (C) is a sandstone which in contact | ¢t 2> (C) dasatt cals i) Ly
with the igneous body (D). (D) b8 muandt e Sy
Interpret the produced metamorphic | &' Jsmiell Sualips gidia!

rock.
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45 - «Trees have several benefits to the forests | acue (e J5I pgo 393 sl -¢0

& agricultural environment » -cdel 1 A g OLIAN
[lustrate the importance of trees. i Bpenl iy I3 5 545 B
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